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NOTES
Completing the Square

Solve the equation by completing the square.

x2-6xNZ=7
P -12

X2 -6x+9 =-5+9 1. Get "x" terms and

numbers on opposite sides

(x-37=4 2. Divide by a
3.(b/2) (-6/2)*=9
[(x - 32 =& 45 aperfect ste 4. Add to both sides
x\3=+2+3 5. Factor left side
:\ 6. Square Root both sides

7. Get x alone and simplify
2+3=5
2+3=1
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Solve the equation by completing the square. ®(§\%®
2 -
2x"+ ]ééx -32 -X pair of 2's, extra 5
- 8x N
22 + 8x _72 -0 1. Get "x" terms and
numbers on opposite sides
2 _+ S 2. Divide by a
X"+ Bx = 32 3.(b/2)°
2 2 4. Add to both sides
X2+ dx - 4=16+4 5. Factor left side
(x+2)?=20 6. Square Root both sides
[(x + 2)° ~20 7. Get x alone and simplify
xN\2=+2/5 2

The 2 can't be subtracted since the
/5 is still there.
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\
Solve the equation by completing the square. ®@§®
3x? - 12x :/%d éx+ 12 no pairs, can't simplify 30
- 24x
x? - 36x =18 1. Get "x" terms and
‘g% 3 3 numbers on opposite sides
) 2. Divide by a
X -12x + 36 = -6 + 36 3. (b/Z)Z
(x - 6)° = 30 4. Add to both sides
./(x - 6)2 =30 5. Factor left side
X-6=+/30+06 6. Square Root both sides
Jz 7. Get x alone and simplify




